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SENVIE 2N4033CSM4

LAB

HIGH SPEED PNP
MEDIUM VOLTAGE TRANSISTOR IN A
CERAMIC SURFACE MOUNT PACKAGE

MECHANICAL DATA
Dimensions in mm (inches)

o, k8288 FEATURES
ooisamey | « CERAMIC SURFACE MOUNT HERMETIC
03 PACKAGE
- ﬁ ] « LOW WEIGHT
| jw e J’m‘;gog) w  *SMALL FOOTPRINT
d « SCREENING OPTIONS AVAILABLE
ey e
LCC3 PACKAGE
Underside View
PAD 1 — Collector PAD 3 — Emitter
PAD 2 — N/C PAD 4 — Base

ABSOLUTE MAXIMUM RATINGS T_ase = 25°c unless otherwise stated

Vceo Collector — Emitter Voltage -80V
Vego Collector — Base Voltage -80V
VEBO Emitter — Base Voltage -5V
Ic Continuous Collector Current -1A
Pp Total Device Dissipation at T, = 25°C 400mw
Derate above 25°C 2.28 mW/°C
- Tstg Operating and Storage Temperature Range -55 to +200°C
o
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SEVIE 2N4033CSM4
ELECTRICAL CHARACTERISTICS (Togge = 25°C unless otherwise stated)
Parameter Test Conditions Min. Typ. | Max. [ Unit
-50 nA
lcso Collector Cut Off Current Veg = -60V Ta=150°C 50 m
lEBO Emitter Cut Off Current Vg = -5V -10 uA
_ _ Ilc =-150mA Iz =-15mA -0.15
VcE(sat) Collector Emitter Saturation Voltagel — — \Y
Ilc =-500mA Iz =-50mA 0.50
VBE(sat) Base Emitter Saturation Voltagel [c =-150mA I =-15mA -0.9 \
VBE(on) Base Emitter on Voltage Ilc =-500mA Vg =-0.5Vv1 -1.1 \
Viericeo  Collector Emitter Breakdown Voltage | Ic =-10mA -80 \
Vierceo Collector Base Breakdown Voltage Ic =-10pA -80 \
V@ereso Emitter Base Breakdown Voltage g =-10pA -5.0 \
lc =-100mA Vg =-5.0V 40
@-55°Ct
hee DC Current Gain 'c =-100uA | Veg =-5.0V 7 —
Ilc =-100mA Vg =-5.0v1 100 300
Ilc =-500mA Vg =-5.0V1 70
Ic =-1.0A Vcg = -5.0v1 25
SMALL SIGNAL CHARACTERISTICS
Cobo Output Capacitance Vcg = -10V f=1MHz 20 oF
Cibo Input Capacitance Vgg =-0.5vV  f=1MHz 110
_ _ lc = -50mA Ve = -10V
hre Small Signal Gain 1.5 5.0 —
f = 100MHz
SWITCHING CHARACTERISTICS
ton Turn On Time 100
_ Ic =-500mA
t Fall Time 50 ns
lg1=-1gp = -50mA
tg Storage Time 350

Pulse test t, = 300us , 8 = 1%




